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% # B - IRk B ¥ = B & & w =
BRI 40,839,420 + 5,799, 369 46, 638, 789
EEAGE 40,839, 420
EERE 5,799, 369
Z Ot R 40,839,420 x 42.86% ( 30% = (1 — 30%) ) 17,503,775
EBIRM 46,638,789 + 17,503, 775 64,142, 564
—REEERE 64,142,564 x 53.85% ( 35% + (1 — 35%) ) — 3,334 34,537, 436
E 5% 64,142,564 + 34,537,436 98, 680, 000
HBGERLE 98,680,000 x 10.00% 9, 868, 000
EZ E AT 98, 680,000 + 9, 868, 000 108, 548, 000
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EEAGE 40, 839, 420
ETREHERHEMESE 40, 069, 920
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5 EBARE 1.00 391,123 391,123
=
BEHEKERREE 782, 246
BHEERN 1.00 782, 246 782, 246
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XHAEDESN - EnEE 2,400, 000
1 $BRAEYEEN - BREF 1.00 2,400, 000 2, 400, 000
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*EREHZERRVERES 2,160, 000
8 $BRAEBEENRUVUFERES 1.00 2,160, 000 2,160, 000
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EBRERE 66, 000
9 EBHERE 1.00 66, 000 66, 000
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57, 000. 00 28, 500
=) it 2 1.00[=] 28, 500. 00 28, 500
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57, 000. 00 28, 500
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£ R g - KT Bif =S B i 1 &
EHARE
= 1.00 391, 123.00 391,123
a it 1EEBED - 1. 00X 391, 123.00 391,123
&S :6
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= 1.00 182, 246. 00 182, 246
=) &t EEBESN - 1.00L 782, 246. 00 182, 246
&5 1
2% XBREDEEY - EREF 1=
£ R BRE - IR Bif 2 B i # i) %
EBAEPEEN
=1 2.00 1, 200, 000. 00 2, 400, 000
a it EE8EH - 1.00K 2, 400, 000. 00 2, 400, 000
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EBAEBEENRUMERSE
= 1.00 2,160, 000. 00 2,160, 000
a8 it EE8EH - 1.00K 2,160, 000. 00 2,160, 000
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